
 أكمل التمارين التالية لتحصل على الإجابة الصحيحة:

19,590 .أ + ـــــــــــ  + ـــــــــــ  = 20,600                                       

71,910 .ب − 10 =                                                                 ـــــــــــ 

409,000 .ج + + ـــــــــــ  ـــــــــــ  = 500,000                                 

35,694 .د + ـــــــــــ  = 34,000                                                        

10,000 .ه − ـــــــــــ − ـــــــــــ  = 970                                              

25,300 .و + + ـــــــــــ  ـــــــــــ  =  25,800                                     

99,999 .ز + ـــــــــــ  = 100,001                                                     

75,360 .ح − ـــــــــــ  − ـــــــــــ  = 74,000                                       

8,625 .ط + + ـــــــــــ  ـــــــــــ  = 9,000                                           

 


